MIAMI-DADE COUNTY, FLORIDA
MIAMIDADE :
-: METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMLI, FIL.ORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
Hurricane Security Shutters Mfg. Corp. CONTRACTOR LICENSING SECTION
240 SW 32 Court (305) 375-2527 FAX (305) 375-2558
Fort Lauderdale ,FL. 33315 CONTRACTOR ENFORCEMENT DIVISION

(305) 375-2966 FAX (305) 3752908
PRODUCT CONTROL DIVISION
(305) 375-2902 FAX (305) 372-6339
Your application for Notice of Acceptance (NOA) of:
0.063" Aluminum Storm Panels Shutter
under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade
County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. If this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. %/ %

ACCEPTANCE NO.: 01-0116.14
EXPIRES: 02/24/2006 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above. /
Francisco J. Quintana, R.A.
Director
Miami-Dade County
APPROVED:_03/061/2001 Building Code Compliance Office

\1s0450001\pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



Hurricane Security Shutters Mfg. Corp. ACCEPTANCE No. : 01-0116.14

APPROVED : 03/01/2001

EXPIRES : 02/24/2006

NOTICE OF ACCEPTANCE: SPECIFIC CONDITIONS

1. SCOPE
This renews the Notice of Acceptance No. 00-0201.05, which was issued on March 17, 2000. It
approves a 0.063” aluminum storm panels shutter, as described in Section 2 of this Notice of
Acceptance, designed to comply with the South Florida Building Code, 1994 Edition for Miami-
Dade County, for the locations where the pressure requirements, as determined by SFBC Chapter
23, do not exceed the Design Pressure Rating values indicated in the approved drawings.

2. PRODUCT DESCRIPTION

This 0.063” aluminum storm panels shutter and its components shall be constructed in strict
compliance with the following documents: Drawing No. 00-014, titled “ 0.063” Aluminum Storm
Panel”, prepared by Knezevich & Associates, Inc., dated January 18, 2000, last revision # 1 dated
January 18, 2000, sheets 1 through 6 of 6, bearing the Miami-Dade County Product Control
Approval and Renewal stamps with the Notice of Acceptance numbers and approval dates by the
Miami-Dade County Product Control Division. These documents shall hereinafter be referred to
as the approved drawings.

3. LIMITATIONS
All permanent set components, included but not limited to embedded anchor bolts, threaded cones,
metal shields, headers and sills, must be protected against corrosion, contamination and damage at
all times.

4. INSTALLATION
This 0.063” aluminum storm panels shutter and its components shall be installed in strict
compliance with the approved drawings.

5. LABELING
Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved".

6. BUILDING PERMIT REQUIREMENTS
6.1 Application for building permit shall be accompanied by copies of the following:

6.1.1 This Notice of Acceptance.

6.1.2  Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed
installation.

6.1.3 Any other documents required by the Building Official or the South Florida
Building Code (SFBC) in order to properly evaluate the installation of this system.

Helmy A. ¥akar, P.E.- Product Control Examiner
Product Control Division

2




Hurricane Security Shutters Mfg. Corp. ACCEPTANCE No. : 01-0116.14
APPROVED : 03/01/2001

EXPIRES : 02/24/2006

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

1 Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed and the
original submitted documents, including test-supporting data, engineering documents, are no older than eight
(8) years.

2. Any and all approved products shall be permanently labeled with the manufacturer's name, city, state, and the
following statement: "Miami-Dade County Product Control Approved", or as specifically stated in the
specific conditions of this Acceptance.

3. Renewals of Acceptance will not be considered if:

a.  There has been a change in the South Florida Building Code affecting the evaluation of this product
and the product is not in compliance with the code changes.

b.  The product is no longer the same product (identical) as the one originally approved.

c.  Ifthe Acceptance holder has not complied with all the requirements of this acceptance, including the
correct installation of the product.

d.  The engineer, who originally prepared, signed and sealed the required documentation initially
submitted, is no longer practicing the engineering profession.

4. Any revision or change in the materials, use, and/or manufacture of the product or process shall automatically
be cause for termination of this Acceptance, unless prior written approval has been requested (through the
filing of a revision application with appropriate fee) and granted by this office.

5. Any of the following shall also be grounds for removal of this Acceptance:
a.  Unsatisfactory performance of this product or process.
b.  Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other
purposes.

6.  The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the Notice of Acceptance is
displayed, then it shall be done in its entirety.

7. A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall be
provided to the user by the manufacturer or its distributors and shall be available for inspection at the job site
at all times. The engineer needs not reseal the copies.

8.  Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

9. This Notice of Acceptance consists of pages 1, 2 and this last page 3.

END OF THIS ACCEPTANCE

Helmy A. ¥fakar, P.E.- Product Control Examiner
Product Control Division

3




" - 062"
.062 R .250
fTYP) [TvP) R.250"

o
4

125 TYP. 125 TYP.

2,000"
2.00"
2.00"

1.985"

soo-max. | pozoo |

h" HEADER @ "U" HEADER @ ANGLE @ ANGLE
CALE ; 3" = 1'-0" SCALE : 3" = 1-0" SCALE : 3" = 1'-0" SCALE : 3" = 1'-0"

F————

(954) 382-2989

{TAL
TONAL

GENERAL NOTES:

1. THIS SHUTTER SYSTEM IS DESIGNED IN ACCORDANCE W!TH THE SOUTH FLORIDA
BUILDING CODE, 1994 EDITION.

2. POSITIVE AND NEGATIVE DESIGN PRESSURE CALCULATIONS SHALL BE PERFORMED
FOR SPECIFIC JOBS IN ACCORDANCE WITH ASCE 7-88 “MINIMUM DESIGN LOADS
FOR BUILDINGS AND OTHER STRUCTURES™, TABLES SHALL BE REFERENCED
1.00" AT THE APPROPRIATE DESIGN LOAD.

TEL: {954) 382-2800 » FAX
WEBSITE: WWW.KNEZEVICH.COM s E-MAIL: KA@KNEZEVICH.COM i

CONSULTING ENGINEERS « PRODUCT TESTING
1260 N. UNIVERSITY DRIVE, SUITE 180 » FORT LAUDEADALE, FL 383322

COPYRIGHT © 2000 KNEZEVICH & ASSOCIATES, INC.

KNEZEVICH & ASSOCIATES, INC.

3. STORM PANELS SHALL BE S052-H32 ALUMINUM ALLOY, 0.063" THICK, WiTH A MIN.
Fy {BEFORE ROLLING) OF 23 KSI. ALL EXTRUSIONS SHOWN SHALL BE 6063-T6
ALUMINUM ALLOY, U.O.N.

m-16 GA. 4. PRODUCT MARKINGS SHALL BE WITHIN 12" OF ONE END OF THE PANEL WITH A MIN
OF ONE MARKING PER PANEL AND SHALL BE LABELED AS FOLLOWS:

HURRICANE SECURITY SHUTTERS MANUFACTURING CORPORATION
FT. LAUDERDALE, FL
MiAMI-DADE COUNTY PRODUCT CONTROL APPROVED

P STEEL BAR 5. ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH A
HALE SIZE MINIMUM TENSILE STRENGTH OF 60 KSi.

_

‘|

1.00"

poration

6. TOP 2 BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD CONDITIONS
DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE.

7. TYPE! & TYPE Il PANELS, OPTIONAL 1" x 1” x 16 GA STEEL BAR MAY BE USEO
TO CONTROL OEFLECTION OF STORM PANEL SYSTEM ON INSTALLATIONS BELOW 30°
WIOTH UNLIMITED ABOVE THE GRADE, PROVIDED THAT THE PANEL SPANS USED ARE 101" OR LESS,

o THAT DESIGN LOADS ARE BELOW = 72 P.S.F. AND THAT THE SEPARATION FROM GLASS

(PERP. TO PANEL SPAN) IS 1-7/8" OR MORE BUT LESS THAN 2.5".

8. TYPE!Z Il PANELS SHALL BE FASTENED AT PANEL OVERLAPS AT MIDSPAN W/ 1/4-20 x 1”
» » ~— TOP MQUNT BOLTS W/ DIE CAST ALUM. WASHERED WINGNUTS OR JACKNUTS (SEE TYPICAL ELEVATION).
piece (§) or (7) FOR TYPE 1 OR Il PANEL SPANS LESS THAN 33" OVERLAP FASTENERS % TUBULAR BAR ARE
OR DIRECT MOUNT NOT REQUIRED NO STEEL BAR OR OVERLAP FASTENERS ARE REQUIRED FOR INSTALLATION
TYPE il (SEE TYPICAL ELEVATION TYPE Hil. TYPE | & Il PANELS UTILIZING A STEEL BAR
SHALL BE FASTENED AT OVERLAPS AT MIDSPAN TO A 1” x 1" x 16 GAGE STEEL BAR USING
1/4-20 x 3-1/2" BOLTS W/ DIE CAST ALUM. WASHERED WINGNUTS OR JACKNUTS, (SEE
TYPICAL ELEVATION).

Securtty Shutters

Marufacturing Cor
240 S.W. 32nd Court

Ft. Lauderdale, Florida 33315
ph(954) 760-4440 * fax(954) 760-4441

0.063" ALUMINUM
STORIVI PANEIL

Hurricane

]

9. THE DETAILS AND SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS
TESTED FOR iMPACT, CYCLIC AND UNIFORM STATIC AIR PRESSURE TESTING
IN CONFORMANCE WITH DADE COUNTY PROTOCOLS PA 201,202, AND 203.

10. DESIGN IS BASED ON HURRICANE ENGINEERING TESTING INCORPORATED (H.E.T.I.) TEST REPORTS
No. 94-292A AND No. 94-395A, CONSTRUCTION RESEARCH LABORATORY {C.R.L.} TEST REPORT
No. $S1021C. CONSTRUCTION TESTING CORPORATION {C.T.C.} TEST REPORT No. 95-022;
95-031 AND 95-007R. - -

11. AT LEAST DNE WARNING NOTE PER OPENING SHALL BE PLACED IN A CONSPICUOUS
LOCATION ON ANY OF THE COMPONENTS OF THE STORM PANEL SYSTEM ADVISING
THE HOME OWNER OR TENANT THAT THE STORM PANELS WILL NOT OFFER HURRICANE
PROTECTION UNLESS ALL REINFORCING BOLTS AND OR BARS ARE PROPERLY INSTALLED
WHEN REQUIRED. WARNING LABEL ‘SHALL BE'F_ASTENED WITH PERMANENT AQHESIVE
OR MECHANICALLY.

description

1 {01/18/00WIGPREV. DRAWING No. 97-478

revislons

BOTTOM MOUNT

“ TP | PIECE () OR (B) APPROVED AS COMPIYSNG WITH THE
LESS CLOSER SPACING OR B _ ,
ECT MOUNT REQ. PER DIRECT MOUNT  OR DIRECT MOUNT SOUTH FEORIDA BUILDiNG CODE

(PICAL ELEVATION-TYPE Il ot flBpele /% 2002

S AT PANEL OVERLAPS OR BAR ARE REQUIRED} BY
. PRODUCT CONTROL DIViS 0N
{OUTSIDE) 1" x 1" x 16 GA STEEL TUBE, TYP. [OPTIONAL) BUILDING CODE COMPLIANCE OFFICE

AN\

SEE NOTE 7 & TYPICAL ELEVATION ACCEPTANGE NO, 200~ 02_9/'0(-
st o e =
172" OVERLAP GREATER THAN 110 P.SF. ACCEPTANCE No. ol- 01[ g . 14, T __J(drwn =
3 [3>] MC
YPrRODUBT ConTROL Division [ 00-014

m e B e ey
B === 1-1/2"1:4 e ﬂ
A N/ easrenen @ 2 oc ron oesinosos PRODUCT RENEWED! Ll
@ L~ LESS THAN OR EQUAL. TO 110 R.S.F. l@e {01”8/00’
~u AND @ 8~ 0.C. FOR DESIGN LOADS
(iINS Z/ Z AS NOT
INSIDE) =
; EXPIRATION DATE Q_Z__%L_wod.s.gn By |[crecred by
ALUM. ANGLE CLOSURE PIECE: ~— g)Tusm;s }/ IwK ]( wg]
1" x 2% x .125" MIN, TO .y RUCTURE — -
2" x 5" x 125" MAX. By e/élm 4 M/\/ drawing no
J
BUILDING CODE COMPLIANCE OFqu( sheeft 10f 6 |




PROOUCT MARKING PROOUCT MARKING

063" LOCATION - / {(OPTIONAL LOCATION} 063" .
{TYP) {TYPJ b’ 2.230"
™~
e 2.250%
. : ¢
2.18” w : 2.118~ w of A= -
81 .oso 1m0 S| .os0~ —-——-l 1110 n 062" R .250" ;062
~ I ~ \ I ' s e firyes Niki2] R .250"
A\ N2 / : . ) s
~ R R ° b 125 TYP, g 125% TYP.
.75"[ 12.00" COVERAGE [ 75" 6.00" m n @ 3 2 ~
of ~f m - o~ - T
13.50" \ 3 Og4 g = g
I ), . | z.002" | ) l 5.00" MAX l 2.00" zz 8 -
. . . |, l < e
FULL PANEL HALF PANEL o ; : A I
O - w
ONE HALF PANEL PER OPENING (7> 4 E <
MAY BE USED AS REQUIRED TO we|2 guis
COVER OPENING. —o|Zg3lo
STORM PANEL @ "n* HEADER @ "U* HEADER @ ANGLE @ ANGLE <3 g g g o
» A ——————————————————— e ————————————— -_— o e i<
. SCALE : 3" = 1'-0" » SCALE : 3" = 1'-0" SCALE : 3" = 1'-0" SCALE : 3" = 1°-0" SCALE: 3" = odlE g d
.093” TYP. os|88%
: .188"~ ol e Xu|lxT
3 ' Dyl g 2UIs
i 1/4-20 MACHINE SCREW = - o=l2 . 5|3
B STUD PUNCHED INTO ANGLE T30 sss <ulp g3
{SEE DETAILS FOR SPACING) =383y
. HORIZONT AL RN
I 2.00- l ——— LEG OPTIONAL PR E
ALT. LEG 2.000" GENERAL NOTES: 22 g
DIRECTION : - wzgilo
: 1. THIS SHUTTER SYSTEM IS DESIGNED IN ACCORDANCE WITH THE SOUTH FLORIDA Qo 5 gie
STUDDED ANGLE OPTIONAL ANGLE BUILDING CDDE. 1992 EDITION, sz|6 @ ; «
[
SCALE : 3" = 1'-0" SCALE : 3" = 1-0" 2. POSITIVE AND NEGATIVE DESIGN PRESSURE CALCULATIONS SHALL BE PERFORMED wo| 4 o
, FOR SPECIFIC JOBS IN ACCORDANCE WITH ASCE 7-88 “MINIMUM DESIGN LOADS N2 2 mE
FOR BUILDINGS AND OTHER STRUCTURES™. TABLES SHALL BE REFERENCED wals El8
1.00" AT THE APPROPRIATE DESIGN LOAD. oz & E
438 NOTE: 3. STORM PANELS SHALL BE 5052-H32 ALUMINUM ALLOY, 0.063 THICK, WITH A MIN. Vi g - g
ACROSS FLATS WASHERED NUT Fy (BEFORE ROLLING) OF 23 KSi. ALL EXTRUSIONS SHOWN SHALL BE 6063-Té .
: ALUMINUM ALLOY, U.ON. e—
N o PLACED OVER S 16 GA L. PRODUCT MARKINGS SHALL BE WITHIN 12 OF ONE END OF THE PANEL WITH A MIN 1 [
1. GAUGE (=} i . -
A N ENEY § NARROW PORTION OF = OF ONE MARKING PER PANEL AND SHALL BE LABELED AS FOLLOWS: 0n —
KEYHOLE SLOT. Jl S 3
L-_SS_,L HURRICANE SECURITY SHUTTERS MANUFACTURING CORPORATION E _3 2 3
FT. LAUDERDALE, FL ) i X '?% o2
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED @B
WINGNUT WASHERED NUT S Lo a2
. STEEL BAR 5. ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH A 2-2 ﬁ S_E Ry
SCALE : HALF SIZE SCALE : HALF SIZE HALF SIZE MINIMUM TENSILE STRENGTH OF 60 KSI. - < - 0,35’;
6. TOP 2 BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD CONDITIONS E ) _3—8 8':3‘4
DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE. L ke ;:.QE
7. TYPE & TYPE Il PANELS, OPTIONAL 1 x 17 x 16 GA STEEL BAR MAY BE USED | = Q_ﬁ“‘;,
TO CONTROL DEFLECTION OF STORM PANEL SYSTEM ON INSTALLATIONS BELOW 30 g £ .9,
WIDTH UNLIMITED WIDTH UNLIMITED WIDTH UNLIMITED ABOVE THE GRADE. PROVIDED THAT THE PANEL SPANS USED ARE 101" OR LESS, g NS B-QQZ
{PERP. TO PANEL SPAN) TOP MOUNT PERP. T THAT DESIGN LOADS ARE BELOW = 72 P.S.F. AND THAT THE SEPARATION FROM GLASS R -
rece (). O) (PE 0 PANEL SPAN) (PERP. TO PANEL SPAN) 1S 10776~ OR MORE BUT LESS THAN 2 5-. A m ® —é o%’g
3
. TYP. SECTION g @or TYP. SECTION fomm 8. TYPE !X Il PANELS SHALL BE FASTENED AT PANEL OVERLAPS AT MIDSPAN W/ 1/4-20 x 1° | |4 O %CE a2
r T OTTHTTH TOP MQUNT i » 3 ~— TOP MOUNT BOLTS W/ DIE CAST ALUM. WASHERED WINGNUTS OR JACKNUTS {SEE TYPICAL ELEVATION}. Us —a
176-20 x 3-172" . "l AR p,ECE@OR @ PIECE @on @ FOR TYPE 1 OR !l PANEL SPANS LESS THAN 33" OVERLAP FASTENERS & TUBULAR BAR ARe ||O I.. = E:‘Iﬁ
SIDEWALK BOLTS OR DIRECT MOUNT OR DIRECT MOUNT NOT REQUIRED NO STEEL BAR OR OVERLAP FASTENERS ARE REQUIRED FOR INSTALLATION : = © &
W/ DIE CAST ALUM. TYPE it {SEE TYPICAL ELEVATION TYPE Hl). TYPE | 2 i PANELS UTILIZING A STEEL BAR 0 Nl == =
w WASHERED WINGNUTS - SHALL BE FASTENED AT OVERLAPS AT MIDSPAN TO A 1* x 1" x 16 GAGE STEEL BAR USING N A
2|3 FASTENED AT OVERLAPS. o £|J i 174220 x 3-1/2" BOLTS W/ DIE CAST ALUM. WASHERED WINGNUTS OR JACKNUTS, (SEE
ad J
abls {SEE PLAN VIEW AND B H gé 2 TYPICAL ELEVATION). D
w
TEl3 NOTE 8) £z|3 I 176-20 x 3-1/2~ 32 9. THE DETAILS AND SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRDDUCTS SIBG )
» SN waN 11 SIDEWALK BOLTS N TESTED FOR IMPACT, CYCLIC AND UNIFORM STATIC AIR PRESSURE TESTING 3
2218 ] PLAN VIEW 2ol Ve W/ DIE CAST ALUM, 22 IN CONFDRMANCE WITH DADE COUNTY PROTOCOLS PA 201,202, AND 203. =
zZZ|T LHL RRINE INATI | zZiT il JUIUA L wASHERED WINGNUTS 2ziT slg
<o BEHr THFEEETHT <<le HFHTF FTHFAFHTHTH rastenco aT overiaps, | < <le 10. DESIGN IS BASED ON HURRICANE ENGINEERING TESTING INCORPORATED {H.E.T.L) TEST REPORTS ziz
*° x bl G i ISEE PLAN VIEW aND | %[0 No. 94-292A AND No. 94-395A, CONSTRUCTION RESEARCH LABORATORY (C.RL.} TEST REPORT  {{ 4l {218
§§ 2 X3 EX|2 No. $1021C. CONSTRUCTION TESTING CORPORATION {C.T.C.) TEST REPORT No. 95-022, = lsj3
%< NOTE 8} %< wl<
orfy opTioNAL (B) ar|y 6 3|g $5-031 AND 96-007R. - ol {51
- - - — a
walg % 1" x 16 GA gl \ wg & 11. AT LEAST ONE WARNING NOTE PER OPENING SHALL BE PLACED IN A CONSPICUOUS poi i e b
wif> STEEL BAR (SEE gl OPTIONAL (5) wly LOCATION ON ANY OF THE COMPONENTS OF THE STORM PANEL SYSTEM ADVISING a1
w |= PLAN VIEW & .ow |= 1" x 1* x 16 GA. R THE HOME OWNER OR TENANT THAT THE STORM PANELS WILL NOT OFFER HURRICANE >
NOTE 7 & 8) STEEL BAR (SEE PROTECTION UNLESS ALL REINFORCING BOLTS AND OR BARS ARE PROPERLY INSTALLED o [>[Z
PLAN VIEW 2 WHEN REQUIRED. WARNING LABEL SHALL BE FASTENED WITH PERMANENT ADHESIVE S lEH
NOTE 7 & 8) OR MECHANICALLY. |8
ol o ol o ol ol 3 J o 2 B n . : -2
T B0OTTOM MOUNT e : BDTTOM MOUNT a._—ﬂ BOTTOM MOUNT P ) o
- v B . o S
?‘WLP' R Piece (8) 0r (7) 'r:p i L PiEce (&) 0R () ‘J:LE”sz ‘; o ncn on prECE () OR (6) APPROVED AS COMPIYING WITH THE 1>
s . 3 S| : g . | <
OR DIRECT MOUNT DIRECT MOUNT REQ. PER DIRECT MOUNT  OR DIRECT MOUNT SOUTH FEQRIDA BUILDING CODE
TYPICAL ELEVATION-TYPE | TYPICAL ELEVATION-TYPE Hl TYPICAL ELEVATION-TYPE Hil DATE Z 2 vop
NOTE: F BAR (3)IS NOT USED, TABLE 2 “NO BAR W/ BOLTS" IS APPLICABLE FOR SEPARATION FROM GLASS {NO BOLTS AT PANEL OVERLAPS OR BAR ARE REQUIRED) BY
IF BAR(9)1S USED, TABLE 2 “BAR W/ BOLTS" IS APPLICABLE FOR SEPARATION FROM GLASS. PRODUCT CONTROL DiviS-ON
® {OUTSIDE] {OUTSIDE) {OUTSIDE) (3) 1" x 1" x 16 GA STEEL TUBE, TYP. (OPTIONAL} BUILDiNG CODE COMFL'ANCE OFFICE
SEE NOTE 7 & TYPICAL ELEVATION - J"
Y A _[_--__,____.ﬁ.- B _SEENO sccepTance No. 20 - O297.0
[ 3 v /
EZEFTIN d Wl PRODUC W
174 MAX, MIN. o
FASTENER @ 12" 0.C. FOR DESIGN LOADS 7 |~ FASTENER @ 12- 0.C FOR OESIGN LOADS D . T RENE ED -
LESS THAN OR EQUAL. TO 110 P.S.F. O] 7 . ©) LESS THAN OR EQUAL. TO 110 P.S.F. [t' j)1/1e/od
AND @ 8" 0.C. FOR DESIGN LOADS OVERLAP FASTENERS / L} 16 MAx. AND @ 8" 0.C. FOR DESIGN LOADS ol- 01/ é /4-
GREATER THAN 110 P.S.F. TYP. {SEE NOTE # 8) / 172 OVERLAP GREATER THAN 110 P.S.F. ACCEPTANCE No, ‘ (vcaie (drawn by
AS NOTED MC
{INSIDE} {INSIDE} (INSIDE) es,gn TR }
FL i ALUM. ANGLE CLOSURE PIECE: /\— EXISTING JWK vIK
1" % 2" x 125" MIN. TO P STRUCTURE drawing na.
ALUM. ANGLE CLOSURE PIECE: L. . v 9
EXISTING / oy 2 ese N, TO PLAN VIEW 27 x 57 x .125" MAX. 00 01 4
STRUCTURE——¥ x £ % - i -
UCTURE / 2" x 5" x .055" MAX. i
SCALE: 1-1/27 = 1-0" BUILDING CODE COMPLIANCE OFFICH (™ snaet 1of 6 )

01/18/00 14:59 i



EMBED.

{TYR) '

FASTENER, SEE ANCHOR Sa— FASTENER, SEE ANCHOR m
FASTENER, SEE ANCHOR 4 EXISTING SCHEDULE, REFERENCE
S RUCTURE SCHEDULE. REFERENCE SCHEDULE, REFERENCE . EDGE DIST. STRUCTURE — 49 /_ CONNECTION *TYPE 4°
CONNECTION “TYPE 2° CONNECTION "TYPE 3 p—— |
A\ " 1/4.-20 MACHINE BOLT &
: 14 e = NUT @ 127 0.C. STAGGERED
EMBED. ” al ., EXISTING Pa 5 {TYP, TOP & BOTTOM} e MAX.
4 ® (TYP) < < i STRUCTURE m . pa— (G
_ 174" MAX. S R ' 176" MAX. = Og =z
- [ il : — ] 4 Zz =
4 A b Zz 1
| - i h \J G ! ® ; 5‘ 5 E
| “ur =
S\l : ml I ©)] “ Lmu: g 3 E E
nm i - 2 —olE &2 lo
w ] Ilw 213 g Qilo
2 a SEE MIN. SEPARATION ol Z Loj3§gile
SEE MIN, SEPARATION {2 SEE MIN, SEPARATION olw - glw OclE gd =
FROM GLASS SCHEDULE-fI~_ ElE FROM GLASS SCHEDULE - ol & FROM GLASS SCHEDULE S Wl S ER T
N O] gls Ny L ® zZla {SHEET 3 OF 6} o 212 O.u-iﬁ -
- w - 3 Py L
N i — o @ GLASS - Zl e Dok «|Q
& o o Z - A 1 I OR DOOR al e nc|2 5|3
GLASS v ¥l « GLASS \f EAIPY |z <Ylpg g
OR DOOR —=+1 a OR DOOR —= < X| o w Qlin
| iz alz @®conT <= dzgaﬁgm
¢ ) r|lw -
4 x| o ol g gi=
! Xl o < - L] w Wagiix
1 1 o 1/4-20 MACHINE SCREW 4 ] (D CoNT. (TYP. u 22 gle
| w @®conT. STUD & WINGNUT @ 6 0.C. | % ToP 4 BOTTOM S&gls
Qo
<| o FOR TYPE 1 & il AND ] —— Oclz 5|3
1._ » | ] @ 12" 0.C. FOR TYPE HL. ol s - > E = E o
3 f . vlE KT > w -
. . 0 < X 3 2 =,
A TH L @®CoNT ; —LI__] ! gia = had 17420 MACHINE SCREW NHER '.g:
8o ) : ch : 3 STUD & WINGNUT @ 67 0.C. wzly @il
. : - : 4 it — FASTENER, SEE ANCHOR - <IN ——= FOR TYPE | & Il AND =9z &g
r | \_ d s T o 4 SCHEDULE, REFERENCE d o A\ @ 12" 0.C. FOR TYPE 1. Col&8 =g
: “TYPE 3 < L = J
SRS 1/4.-20 MACHINE SCREW g A CONNECTION £ EXISTING L
EXISTING - i i STUD & WINGNUT @ 6" 0.C. < ————tf—— EXISTING STRUC TURE ————tm FASTENER, SEE ANCHDR -
STRUCTURE - N FASTENER, SEE ANCHOR FOR TYPE | & It AND n * STRUCTURE N P S A SCHEDULE. REFERENCE
4. SCHEDULE, REFERENCE @® 12* 0.C. FOR TYPE Iii. A CONNECTION "TYPE 4~ W - —
CONNECTION *TYPE 1* - s J —é_ S %
D n
! epcEDIST. | -] i .g_\ﬁ ot
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL ! » SIDE CLOSURE REQ’D. (SEE PLAN VIEW) 2 Z ﬁ S EQ:
N <
= Bas
E < 3‘ &Q— Ufgc\
OUT MOUNT SECTION LI=OgE%
WALL MOUNT SECTION .@ CEILING/INSIDE MOUNT SECTION BUILD-OU aLiTtYeed
SCALE : 3" = 1-0" Tl 3 S8
SCALE : 3" = 1"-0" SCALE : 3" = 1'-0" PaE g = By
: < 2 Lg.%;t
: m Sy 55
WOO0D FRAMING FASTENER, SEE ANCHOR m B Vogds
SEE MIN. SEPARATION EMBED. SCHEDULE, REFERENCE O S8 82
FASTENER, SEE ANCHOR FROM GLASS SCHEDULE {TYpP) 1 CONNECTION 'TYPRE 1 or (0] S R
4 SCHEDULE. REFERENCE N o ~ : IUSE ANCHORS FOR DIRE QL= 4%
- g MOUNT ONLY @ 6~ 0.C. OR e g E9
CONNECTION *TYPE 2 GLASS EXISTING 12" 0.C., BUT DO NOT EXCEED onml = <
OR DOOR STRUCTURE —f 4 s SCHEDULE SPACING] 0 12 =
: 4 o |
§] ] ;_ ® ( ., a S———
= 45 . 16" MAX. : 7 Y (=
" L [3e , - | APPROVED AS COMPLYING WITH THE g
Ul ft n Wi, o ~
aoj [ ] z gl'!d' 4 SOUTH FLORIDA BUILDING GODE 5%
| i g _ . ""' 1 =iz
e b z Q DAT ol [218
| w = BY c 33
2 o I ' wo of |ofa
} @ {8 z = . R —| {0}
GLAsS JII_ Zle 3 £|3  PRODUCT CONTROL DIVIS'ON ol | |2
o ! 3 , "] &
SEPARATION R S i ¥ GLASS , ® 8|E  BUILDING CODE COMPLIANCE OFFICE >/ | &
- r J : OR OOOR o ol [5
FROM GLASS ’ 2| % : = ; 512 accerrance no. 0= 920/ OF - |
SCHEDULE — ¥ % . y e e N
a. - . w 215
< i~ (O)conT. N wl g S
als | SEE MIN. SEPARATION Y z| 3 32
i x| & \ . FROM GLASS SCHEDULE — - / al = z
l -z °
x -
;. n 2| e L S _
</I | sl
T w . w
o Sy w 176" x 1-3/4" 5.5, LAG = 1/%-20 MACHINE SCRE w
Y A H - STUD & WINGNUT @ 6" 0.C. i
2o, G| — (®)CONT. ® 127 0.C. W/ 1-1/2 FOR TYPE | & 1l ANO N
. ;,555 T/ PENETRATION INTO wooD 0% TVRE Lo L
- A wl, ]
7 N . — T 2 - 14" x L=1/2" S.S. Ia 3
. ) Al LAG SCREW @ 24" 0.C. MAX. 8ia | PRGE}UCT RENEWEB
Al }——— FASTENER, SEE ANCHOR +—EMBED. W/ 1-3/4" PENETRATION -
SCHEDULE. REFERENCE 1/4-20 MACHINE SCREW N CENTER OF STUDS //6 ’4 _
CONNECTION *TYPE 1* STUD & WINGNUT @ 6~ 0.C. ACCEPT, -
"LE(:\?IE?[;. FOR TYPE | & it AND i:"o’::gnc%;i' EXISTING ANCENo.Q [~ © :
: @ 12" 0.C. FOR TYPE Il . 6
WOOD FRAMING STRUCTURE TN DATE O /24 / o0
NOTE: THIS DETAIL MAY BE USED " rd,,./ 01/18/02}
T TTOM OF PANELS.
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL AT TOP OR BOTTO By i M//W\/ @Fﬁwn By |
et TED MC
NOTE: USE OF THIS DETAIL IS LIMITED TO = 72 PSF. PRODUCETONTROL DIVISION dAS ":b ch“kedgj
N ¢ 50
N WALL MOUNT SECTION BUILDING CODE COMPLIANCE OFFICE (B oy e
WALL MOUNT SECTION @ WALL MOUNT SECTIO ® A ,
drawing no.
@ SCALE : 3 = 1.0 SCALE : 3” = 1'-0" (DIRECT MOUNT) I 00-014 J
SCALE : 3" = 1.0~ [ sheet 2 0f 6 |

N /AR /00 15:00



d

——— ~
I SEE MIN. SEPARATION w
=
FROM GLASS SCHED. BE EMBED. —————
=y {TYP) (]
EXISTING STRUCTURE P zilz
HE - / zz| 8 gi=
® conr. — @ 4, v FASTENER, SEE ANCHOR —Eled F£lld
212 A SCHEDULE, REFERENCE ol Gjfu
1/4-20 MACHINE BOLT Z by 3 a CONNECTION *TYPE 4° oY g E <
CLASS 2 NUT @ 21" O.C. 2z T ‘ : @ _ 1/4-20 MACHINE BOLT wel @3 A
OR DOOR —= %| % 4 /— & WINGNUT @ 6™ FOR TYPE I & 1 =9 gy 2
~ -
W] @conT. trve. gy a N t @ 12° 0.C. FOR TYPE I 53 2 g g 3
il ToP & BOTTOM w | oglEF2:
= T — 7] wl . . ; o al| @ g § -
wl . 3 ai=< 4 a 1/4-20 S.S. BOLT & e
g | o9t = \ gla « 418 z|8 WINGNUT @ PANEL MIDSPAN gg 8% =
wlg ? 1/4-20 MACHINE SCREW STUD 215 OR @ 317 0.C. MAX. (TYP) < E 28 @
L WINGNUT @ 6" FOR TYPE 1 3 7 &« w B89N
] & @ 12" 0.C. FOR TYPE W, - o MIN. 2" x 27 x .125" CONT. Sle g 5w
g o3
oz 6063-T6 AL. ALLOY oy 8 iz
i o 3| OR 18 GAGE GALY. STEEL TZ{Z g N
: Lk FASTENER. SEE ANCHOR ME ANGLE Vol2EZ]S
estng . T 0| L SCHEDULE, REFERENCE FROM GLASS SCHEDULE |- A I EHE
STRUCTURE—1 =" CONNECTION "TYPE 4* \ Tiw >: E L o
o "I a ~EER E
= SIDE CLOSURE REQ'D. {SEE PLAN VIEW) J we 2 ‘é— g
'k -~ x
EMBED, NOTES: - THIS OETAIL MAY 8E USED AT TOP z3 g 213
OR BOTTOM OF PANELS. ' : () sTorm PANEL x Ie el J
HOTE: THIS DETAIL MAY BE USED
- HEADERS @ @ CANNOT BE USED IN AT TOP OR BOTTOM OF PANELS. —
COMBINATIGN WITH THIS DETAIL.
LY —t
Q88
_ S 3
ALT. BUILD-OUT MOUNT SECTION WALL MOUNT DETAIL @ CORNER DETAIL > m ‘S'ﬁ S
P — —
SCALE : 3" = -0~ SCALE : 3" = 1'-0” SCALE:3" = ¥-0 D 7 S8 28
_ 2K pos
22N Q_gm?
sl 55328
APPROVED 'AS COMPLYING WITH THE LIV REE
foat
SOUTH FLORIDA BUILDING CODE Tl S SRES
. - =g
T — T LR 5Ee
/ ° . H E Sd S
! in 3 0=l 2 I8
— @ ¢ 5 . I O C(_S o nﬁ
| ; o PRODUCT GOMNROL DIVISION © S 5 A
—_ ] . R ~ £
L cuass 5 © : BUILD:NG CODE COMPLIANCE OFFICE °FIT & =3
OR DOOR z -
| & 27 x 2 x 093" ALUM. 5 acceptance no. 90 O 2.01. 087 V= 3
THREE 1/4"% WOOD LAG =172 | 1-1/27 | > STUD ANGLE z
SCREWS W/ 2-1/4" MiN. @ 2 x 2~ x .093" Z -
EMBED. @ 24" 0.C. MAx.\ \ \ W0OD ROOF TRUSS / : ALUM. STUD ANGLE : i S—
OR FRAMING MEMBER : ' Z < 2
X ® 2" x 3" x178™0R 4
. w“ a ’
N ~ < ?gﬁ%N%E PERPENDICULAR | g MAX. 178" TILE 2" x 5” x /8~ 6063-T6 o5
] | /'les»-u MATERIAL é % ALUM. ANGLE ol g v
i 23
> — [ 1 = / . z 2% % 3% x 178" TO ol |212
- m— " N D 5 x 178" = 18]z
| ral | STUCCO FINISH OR S 7/ NS A 6063-T6 ALUM. ANGLE of 5|2
\ I_\-1 % e / PLYWOOD SOFFIT ‘ 374" PLYWOOD PRI B || :;/ gé"‘” sTuo @ NN
==l b ° IR et glis
: j—— 2" x 4" x 1/8” CON o, . x
| PR S . 1/4" MAX. T ~ ALUM, TUBE 6065 18) TWO-3/16" ALUM. > >§
N 3 —| POP RIVETS 2
CONT. 4" x 250" T 4 17470 RAWL CALK=IN @ 7" O.C. @ 12~ o.C. S e
I
ALUM. PLATE OVER o1\ N z — WITH 778" MIN. EHB1 IN CONC. OSRCRE o1
10" u 5 I HOLLOW BLOCK OR 1/4"® LAG w wle
w000 MEMBERS " z @ 127 0.C. W/ 1-1/2" MIN. EMB. s[5
. . ® : IN WOOD, WOOD SHALL BE OF SPECIFIC i
! . Ly GRAVITY "G" OF 0.55 OR GREATER 3o
[ . .
- . . 174”3 RAWL CALK-IN }
! = 1/2"® THRUBJILT @ 127 0.C. @ 6" 0.C. W7 778" PRODUCT RENEWED
! o] 17470 RAWL CALK-IN @ 12" O.C. MIN. EMB. IN CONC. -
! z WITH 7/8" MIN. EMB. IN CONC. OR W/ 1/4-20 MACHINE SCREW ’& i 4‘
) SEE MIN. SEPARATION ! #14 SMS BETWEEN 1 HOLLOW BLOCK OR 1/4"® LAG SCREW ACCEPTANCE No. OO — O] -
(FROM GLASS SCHEDULE | TRUSSES @ 12" 0.C. _, @ 24" 0.C. W/ 1-1/2" MIN. EMB. IN WOOD
| o WOOD SHALL BE OF SPECIFIC 2 /M/Z«Géé
: z | GRAVITY "G” OF 0.55 OR GREATER EXPIRATION DATE O
o
— . @ 2" x 2 x 1/8” CONT. ALUM. ANGLE 6063-T6 NOTE: THIS DETAIL MAY BE USED AT /l )4 M\-
1 % TOP OR BOTTOM OF PANEL. By )
T (MAX. DESIGN LOAD = 72 PSF) PRODUCT@'dNTROL DIVISION
(MAX. DESIGN LOAD 72 PSF) [MAX. DESIGN LQAD = 72 PSF} RUILDING CODE COMPLIANCE OFFICE
@ SOFFIT CONNECTION DETAIL @ "PASS THRU" DETAIL (R) -EDGE MOUNT DETAIL ereo)
" .« P . e . e e design by |[checked by,
SCALE : 3" = 1'-0 SCALE : 3" = 1'-0 SCALE : 3" = 1'-0 ! 9 e )
‘ drawing no.
[ sheet 3 of 6 J

M /718 /00  15-02



J _—
] ° 13
@ [ ] B g ]
© i T 1'|
i -3 T T
" 21/2 2" x 5" x 1/8” - . LT"’ T 3/87 HOLE FOR
2% % 2% x 093" ALUM. E MIN] 6063-T6 ANGLE i | FASTENING PANEL = T
STUD ANGLE g " - b o e i O
i LV : i L g+ 27 ALuM. 2218 3|z
u v o=t | . @ il sTUD ANGLE 2 3l
J b3 - ' ! -] : o
2 PR . 176" MAX. . : Eld Z|a
2 o N e = = = = —m i -—
| z GRS 11 W | A - TWO0-2" x 5" x 178 L 1/4-20 MACHINE SCREW "U1/u7-20 STUD ' wl Y =
g =& r 6063-T6 ALUM. STUD W/ WINGNUT @ I DOr1 2, E =
; ] ANGLE 6" 0.C. TO PANEL 5 Wet 2 o
H X 1-1/77 . . ANGLE CONNECTION Z INTERIOR FASTENING ~918 8 % o
Y
T MiN. o) n R o w ANGLE ASSEMBLY <a3j2 § Sl
1749 RAWL CALK-IN W/ e i |-~ STUDDED STORM PANEL SCALE: 1-1/2" = 1'=0" ag B g e
7/8" MIN. EMBED. 2 @ : z ox2¢2 2=
¢ 171':‘32:'::?:8&%3}:13?0“ ] m 2" x 2" x /8 T L/6-20 MACHINE SCREW o a2 Zu 5
P4 -C. " x 2" x 1/8" STUD W/ NUT @ 6" 0.L. ] woe i
< WITH 174-20 MACHINE SCREW —Q@ 2z STUDDED ANGLE 10 ANECf'E % : 1:,’1"602%4713'7‘"& SCREW ne 8L zlz
:z - ANGLE CONNECTION T <u| B g 3 lu
H wW0-1/4"® DROP-IN =
m u e — THREE-174"® RAWL : INCOHOR @ 2 oc.)c. 3= 8 § 5 :
174~ MACHINE BOLT 2 CALK-IN @ &4~ 0.C. W/ 7/8" ~ W/ 17 MIN. EMBEO. Oy <
B ot a . i MIN. EMBED. IN CONC. W/ IN CONC. TZl 2«
€ % & § 1/4.20 MACHINE SCREW | 2] O"‘ 53 B
- | < = 9 EagXle
5/16" @ RAWL CALK-IN —— = |
@ 5" 0.C. W/ 1" MIN. EMBED. ] z N . INTERIOR FASTENING >§ oM ; o
INTO CONC. OR HOLLOW BLOCK | e Q . ANGLE ASSEMBLY woly °
W/ 5/16-18 MACHINE SCREW ] A . i o~ N2 g Gk
\ B YRy ~ T S SCALE: 1-172 = 1'-0 Nal3 E g
® 2" x 57 x 1/8" CONT. EMBED . JREE N ) z9lg |z
ANGLE 6061-T6 ALUM. W/ . | - . Llleg *g |
174”9 STUD @ 12 O.C. b~ PUNCH HOLES IN ADJACENT
g A PANELS TO RECEIVE THIS BOLT e e—
F— PLACE PANEL OVER EACH
NOTE: THIS DETAIL MAY BE USED AT o A A o EN @ —
TOP OR BOTTOM OF PANEL. (MAX. DESIGN LOAD = 72 PSF) (MAX. DESIGN LOAD = 72 PSF) E di 5 5 %
(MAX. DESIGN LOAD & 72 PSF) 3 i §-?§ nd
S0 B8
" Z = O e
ANGLE TO "U" HEADER STORM PANEL 2 R 5T
© EDGE MOUNT DETAIL BUILD-OUT =y _ASSEMBLY MOUNT INTERIOR FASTENING DETAIL _(se win oeTai () NENEES
SCALE : 3" = 1'-0" SCALE : 3" = 1'-0" SCALE : 3% = 1"-0" SCALE: N.T.S. 3 5 B’&EM
‘i E &)\ = ng
j - «
) \f\_s m-'Eg
H m oY
BV Vogd
0 S QT3S
00| Qe V3
S s > ) —~— 0 O = oy
TWO - 5/16"® CALK-IN @ 3-1/8" . }. T £ 23
R 0.C. W/ 1" MIN. EMBED. IN CONC. N o = © D,
n DR HOLLOW BLOCK W/ 3-3/4" MiN. K == s
2" x 2" x .055" o EDGE DIST. W/ 5/16-18 MACHINE © nw [=*
6063-T6 CONT. N SCREW ’ " — A
ALUM. TUBE T / - T ol il 3
g 7 ' 2 - M (e
g L ] o . - a 174"® THRU BOLT @ | = 3
w . . . 2” x 2"x .093 ~ - 12" 0.C. ANGLE TO i ' b
. : . STUDDED ANGLE ] o ANGLE CONNECTION x ol
Z EMBEDY g . LEME _\ w |\ = ol
< s a . B P [G] -
T . -—® z S ]iz’ T ® : 1/4"® RAWL CALK-IN @ : z ol 1212
i a ( . X 1% Q.C. W/ 7/8" MIN. I “ = 15i3
gL ¥ . i | X EMBED. INTO CONCRETE W/ . 8 M of lal2
4 2 ¥ L g 1/4-20 MACHINE SCREW o it
z < . #12SMS T i i Y )
T “ ’ @ 12" 0.C. i g i RO Ee
w ) 1-172" | * L
] i A, . H X of [5E
- b 2+ x 7"x 9°-7" MAX. T£=0.13" MIN. s =
® 27 x 27 x 093" 2" x 2" x 093" . I Twr0085- 6063-T6 ALOM. ; o= RE]
. . N . L =0, - . / Sin
M - e
STUDDED ANGLE STUDDED ANGLE . . LAP BEA o // /’//// _ @ 2" x 2" x.093" 1/4-20 MACHINE SCREW =z
1/4-20 MACHINE 1/6-20 MACHINE SCREW | < LT \ 2% x 3" % 174" x 0'-&" = « . STUDDEO ANGLE STUD & WINGNUT @ 6" 0.C. I
SCREW @ 6 0.C. STUD & WINGNUT @ 6~ O.C. . . 608376 ALUM. ANGLE i = 112 FOR TYPE ! & it AND @ 12 c
FOR TYPE | & Il AND @ 12* . 4 /2° | 0.C. FOR TYPE hi
1/74"® RAWL CALK-IN o0.C. FOR TYPE u1 4 CLa, (TYP. TOP & BOTTOM) ‘e LT MIN .k 2% x 093"
W/ 778" MIN. EMBED. - . Ll v v ®2" x 2" x 093
. IN CONC. OR HOLLOW . J- |L1 STUD ANGLE ~
BLOCK @ 6" O.C. SRS TWO0-1/4-20 MACHINE SCREWS 2" x|e]x 178~ 5
ERLIPS : PRODUCT RENEWED
—/. ALT. LEG DIRECTION 6063-T6 ANGLE
S TING Cos. AOCEPTANCENo.0( = 011 6- | 4
NQTE: THIS OETAIL MAY BE USED AT NGTE: THIS DETAIL MAY BE useD AT APPROVED AS COMPLYING NOTE: THIS DETAIL MAY BE USED AT ; /‘2 4’/ {
TOP OR BOTTOM DF PANEL. TOP OR BOTTOM OF PANEL. WITH TH TOP OR BOTTOM OF PANEL. EXPIRATION DATE a Z/. £ 200 1
SOUTH FL;J)R!DA BUILDING CODE / M\/ '
) J
{MAX. DESIGN LOAD = 72 PSF) (MAX. DESIGN LOAD = 72 PSF] DATE_ /5‘, Z.opo {MAX. DESIGN LOAD = 72 PSF) VB, [ e date 1
BY y PRODUCFE€ONTROL DIVISION | 01/18/00)
: BUILDING CODE COMPLIANCE OFFICE Fﬂ{ )
PRODUCT CONTROL DIVS:ON et
1
it it i [ [—7
@ 2"x 2" ALUM. TUBE BUILD-OUT @ STORM PANEL SUPPORT BEAM  BUILDING CODE GOMPLIANGE OFFICE STORM PANEL BUILD-OUT LR e
P ——— SCALE o To- accepTAncE no, PO~ 02 01 04 SCALE : 3" = 1'-0" { 0"6'"'6 :|'°4 l
( sheet & of 6 }

01/18/00 15:04 -



do g = g
Zzz|d Gl=
=il |4
ol Sifw
Y E E <
17 E 2 Q
: =95 8 g e
< =3
N STORM PANEL SCHEDULE A MIN. SEPARATION FROM GLASS SCHEDULE 53 3 %% <
ot
E TYPE | TYPE Il TYPE i E MINIMUM SEPARATION MINIMUM SEPARATION o* 2 g% :
_ £ lposiTive FOR INSTALLATIONS FOR INSTALLATIONS Dala k|l
1 FOR ALL MOUNTING {FOR STUD ANGLE MOUNTS OR| FOR STUD ANGLE MOUNTS OR DESIGN MAX. PANEL 30° OR LESS GREATER THAN 30- CHEEETF
CONDITIONS ‘F* TRACK MOUNTS W/ STUDS | “F* TRACK MOUNTS W/ STUDS 2 LENGTH (L) ABOVE GRADE ABOVE GRADE <aE &8N
NEGATIVE [{STUDS @ 6" O.CFOR| @ 6" O.C., DIRECT MOUNTS | @ 12" 0.C., DIRECT MOUNTS W/ LOAD (w) FT - IN) (INCHES) {INCHES) PHERELE
"E* TRACK AND W/ ANCHORS @ 6" 0.C. ANCHORS @ 6” OR 12" 0.C. MAX. (PSF) zgagis
DESIGN BAR NO BAR NO BAR NO BAR & TalgF
LOAD (w) |STUD ANGLE MOUNTS {REQUIRED AT TOP (REQUIRED AT TOP wZghia
AT BOTTOM) AND BOTTOM) AND BOTTOM) % BOLTS | W/ BOLTS | NO BOLTS NO BOLTS gg 5 § =4
(PSF) - 0.0 5-8 1-7/8 2-1/2 2-1/2 1-3/8 SEilap E o
Tae T rax T 40.0 8-5 1-7/8 2-1/2 2-1/2 1-7/8 NE g e
(FT-IN) (FT-IN) {(FT-IN) 40.0 8-8 - 2-3/4 2-1/2 1-7/8 u.|§ z 2|8
0.0 8 -5 10 - 8 11 - 0 200 -0 = 2 3:3/8 2 o8 =5
50.0 8 - s 0 -5 0 - 5 50.0 5-8 1-7/8 2-1/2 2-1/2 1-3/8 — =
. - 1
600 8 -5 5 - 11 9 - 11 50.0 8-5 2 2-1/2 2-1/2 2 r r
- . 50.0 8 -8 - 2-3/4 2-1/2 2 0 =
70.0 8 -5 9 -7 8 -9 50.0 10-0 - 3 3-3/8 2 §J§§ 3
75.0 8 -0 5-5 8 -5 WisR od
60.0 5-8 1-7/8 2-172 2-1/2 1-1/2 528 =8
80.0 7 -6 °2-3 7-8 60.0 8-5 2 2-1/2 2-1/2 2-1/8 ZZ| £ S 582
90.0 6 -8 9 -0 6 - 10 3-8 — SN QA 2 T
60.0 2-3/4 2-1/2 2-1/4 S 5034
190.0 6 -0 8§ -9 6 -2 60.0 9 - 11 - 3 3-3/8 3 =) —g\_) 35y
110.0 S-6 8 -7 5-7 70.0 5_8 1-7/8 2-1/2 2-1/2 1-1/2 el 3 gﬁt:
120.0 5-0 8 - 4 5-1 70.0 8-5 2-1/4 2-1/2 2-1/2 2-1/4 <§ \Rta‘go
130.0 4 -7 8 - 2 4 -9 70.0 8-8 - 2-3/4 2-1/2 2-3/8 N8 m% ggg
14.0.0 4 -3 7 - 10 4 -4 70.0 9 -7 - 3 3-3/8 3 80 %Q@ggg
150.0 4 -0 7 -4 4 -1 80.0 5-8 - 2-1/2 2-1/2 1-1/2 of 02 Ig
160.0 3 -9 6 - 11 3 - 10 80.0 8 -5 - 2-1/2 2-1/2 2-1/2 o g 8 BR
170.0 3 -6 6 - & 3 -7 80.0 8-8 - 2-3/4 2-1/2 2-5/8 1) 3:5 4|
180.0 3 - 4 e -1 3 s 80.0 5-3 - 3 3-3/8 3
_ - e
190.0 3 -2 5 -9 3 ~ 3 90.0 4L -0 - 2-1/2 2-1/2 1-1/4 b
2000 PR ST Py 90.0 8-5 - 2-5/8 2-5/8 2-5/8 3
210-0 P — 90.0 8-8 - 2-3/4 2-3/4 2-3/4 als
— e - 1 90,0 9-0 - 3 3-3/8 3 REE
ad e -3 50 c-9 100.0 L-0 - 2-172 | 1 2-12 1-1/4 o 52
230.0 2 -7 4 -9 2 -8 100.0 8-5 - 2-3/4 2-3/4 2-3/4 2l lsi5
100.0 8 -8 - 2-7/8 2-1/8 2-7/8 S %
» NOTE: - _ 100.0 8-9 - 3 3-3/8 . 3 © :§
FOR TYPE (Il - NO BOLTS ARE REQUIRED TO HOLD PANEL SEAMS TOGETHER. 110.0 L -0 - 2-1/2 2-1/2 1-3/8 RE
110.0 6-0 - 2-1/2 2-1/2 1-5/8 EIS
110.0 8-5 - 2-7/8 2-7/8 2-7/8 T
110.0 8-7 - 3 3 3
120.0 3-0 - 2-1/2 - 2-1/2 _1=1/4
120.0 5-0 - 2-1/2 2-1/2 1-1/2
120.0 8- & - 3 3 3
werrovep #s cowpiving wir 7t PRODUCT RENEWED
SOUTH FLORIDA BULDING GODE mpTaNcENe O | = O 116 - 14
- arple ! o !
e L — oL/2 4/ 1008 |
BY . TION DATE / 01/18/00
] stalg_” |[drawn by
proouct coffRoL DivisioN By :7%,‘7 A, M\/ A k d:j
BUILDING CODE COMPLEANCE QFFICE VPRODUMONTROII:IBI{IVC'IglgyFICE [des-gnJa:J:he: evJKy
- X MPLIANCE :
accepTaRce 10,00~ @ 2.0(. 0" BUILDING GODE CO} { C;ONCg’ ;4 !
{ sheet 5 of & J‘
nt /AR /00 1A /0



HEDULE DS AND SPANS
ANCHO,E}EDS FCO:R VARIOUS DESIGN LOA 3* EDGE DISTANCE
{INCHE S) REQU 1t
TENER SPACING 8’-5" X. SPAN
FAS on E DISTANCE - 5o~ MAX. SPAN MA o - 3
11°-4" MAX. SPAN ON CONNECT P g ==z
8°-5" MAX. SPAN N CONNECT TYPE fu] g 8 -
LE s o 500 MAX. SPAN N | coNNECTIO TYPE Zzz -1
R SCHEDU OADS AND SPAN w LOA MAX. SPAN CONNECTIO TYPE 11243« THIEF u
ANCHO VARIOUS DESIGN L DISTANCE g (wi CONNECTION TYPE 11234+~ 7 yul g E =
G INCHES] REQUIRED FOR VARIOUS DE 3"EDGE 11—t é" ANCHOR TYPE PSF CONNEEEION TYPE kol Ml N N N 51316 7// : ’A iy g g 2 g
R SPACIN e "SPAN Y AX. TY 1]2 3|3 7 W o
fasTe® 2" EDGE DISTANCE 5'-0" N MA?‘- SSPAN s s‘-::oN g,‘? ) ol Mt Bl IR R I 6 7/ 3 % A RN Ls. 7 % “ ;;/A > ;A;/{/f :g %gg 2
- MAX. SPA ON | CONNEC w 1 77/ IE A n|s|7? v 7/ 3 v —al2 222
§'~5" MAX. SPAN N | CONNECTI TYPE 1171518 v 7 7 %/% 36 % 3 7 A, 7/ 02 £3 2l
0" X. SPAN CONNECTIO TYPE L8 |12 |1 v 3 VA Z 73 7 A 3 U0 ol ez
w LoaD 3 N | Ma TION E & ol /7. A 7/ 07 7724( 0% 2 5 3|
X. SPA CONNEC TYP . 213 6 & P/ v R K777 A, SR
g% (W) Ma N CONNECTION TYPE EAERRE R 6 52 0l 315 ’/A > /A /Aéyj 8 % - 7 V//%%%/A ZZ Ny 8%z g
5 | anchor TYPE PSE coNNf”‘::I:’O TYPE RS R A ERE 12|8|12]4]09 72 93]S )« 0 3 /4747// 3 000500 BB EZE 73 D= Egﬁ w
u5 MAX. T a2 121217 K E > - AT 077 T2]7|n]e 70 - VAl <b - o
X & 112143 12 12|12 6123 vl o2 [T 0 o 12| 12 | 12 . 3|6 7 Z ERE
g TR ACIBILILE BELY//k i R Eheeie %2 %%%%7’5?53/77AL%127105 a oo n Teledgs
2|12 7/ 4 3 - 6|10 7B 7 '/ L7774 % z| > AE o
1211212 1 s | v 12 2 7 s 12| 1N 777 4 9 77 3 Tukd P
= 2j12|12)9 112 ¢% s|s 7 s|31n|s nl1lniZe] - % VAV/V/ 1z sl8lslef7]s 73 5 7// 27K 113]e ¢ %VL VAV/V/I Oolz ¢ «
Tl [nlelals A 7 R IEIE 6”‘/#)74%”7}7//1/,//%%%”/4?7’L ML
72 |12 Y/ERE 0 8 7 - 6|12 712 |1 ) 3 U4 A G2 6 |12 wols 2l
MER LY 7 EEE A, njzje|m 7/ B E > A i A 4 0]12| 6|10 7 6 | 3 a3 BEIg
w/ 2 1215 o //% 4 12 | 12 10 // 9 // 1 I, A0 121121 10 N 2 &2
e . EmBEOMENT| 9 103« /A////l 1213614112 12{8|12js|8]5 7 513 “0 RAWL ZAMAC NAILIN | 92 . /AVA/A 22z 7 EBHE 8112(318,5 V/ 5031 W=z iz
-we 230 Z vl12]s5)916 s3] ol I TR Il 777/ Y W YA N, EMBEDENT 230 |3 8lrzjej6ls 7Z/HEEIRIE A RE R L7 2411 2°18 =3
12 9 7 7112 7/ . 7 W/ 1- ’ 8 7 711 7/ . v o J
*8 12 |12 31114 1218112 - 3117 %8 12 3ls|a A VA2l 11 //
PP T PRE sV s ~ e 6l 5 7 s 7 )| em—
TmEE /%////////2/”// : 12:75w/w;:yﬁy/m,/;*y/;s/?////////////f/ i
72|12 7KK A 6 V3 T 12j12j12|8 2 - 72 {12 1V 3 U e 7/ E N 5 §
ﬂ:ﬂ: L|11s S 0 12 (121212 s ]10]8 N 3|s | A T, 2] 10 ] 12 s | 3 dis S
WSS (— R I T ET R s Rl S T 88 earen wTe [w s o e s s 2R 24
/172 RA . EMBEDMEN 30 Z "nin 12 |12 10 | 12 ~20 SIDEWAL 30 5|17 12110 L i8 ) L
W/ 1-1/8" HIN. EN 2 12 {12 |12 t]6]|7 LARER 716 i [z 1e-20 &~o HEAQ) 2 12§10 |12 7/ K v)3]6 Z/IERY 2l S R
%8 12 ]| 12 21718l 9ln2 6 {12121 12] 12 918 l12]3 , e {3/ w8 12 112 2136zl Z 7/ 7 27710l 6 5 N //, Z 77 Z Ry D*-o mgx
62 |12 2|12 1: 216171812415 b1z njz 2] Vs/ L |3 7772 2 w %ﬁhm 62 [12;9]10]7 w531 z ; Z/f A Z/ﬁy///%/////%//l S< 363@%
w "m 12112121 5 |6 3|/6(5]8 7/ 121316 8 - 1217186 /AR 7 A0 3 VA3 77 8 5|3 Li=0 S
E:] RAWL CALK—IN ;: 129101012 ;/7/7/////////% :; 12]12]w0l2]s|s z s O s | 3 x| - ELCO MALE/FEMALE ;2 12]s]6ls]s ;fy/y/y///%;//// 152 {/f 126 M / : p ?; 4 71 3 % %—ﬁ [
A B R R . 7/ BIRERZ %/ “ 12|31 7 3 T e s W T 3 G202 737 8 s 7 5233
r4 /L 20 SIDEWALK BoL 30 | np7 715 2|10f12]8 BEZE o "EMBED. & 1/¢.-20 SCRE o | s Lz 51316 7 6 |10]5 7 s // 2 2 q Xp) =
fo] B 2 12{10)12]s /// PRERE NER ¢ 3% 3 EMBED. &1 washered {23 'NERERE B 2B /A 12 3 /// 5 /A i 7/ _amoq-
o 48 1212 3|6 14619 41201106 v 36 /A 7 - E SGNUT OR MACHINE S 8 12 {12 777N 74 S 7 v 12{4}18|¢& /// 4 /// Allz E Y Qogo
it 7112 A 3 O 7 - i Wi L v | e 7 I, s )« W/ Ao £ N IF30
7] 1219 110 7, 317 77 g 8|s}]s8 /, 7 7, ///A 77, 1mM{5}i6 7 7 & /A A 4 6|3 / // 7///// A 34— Nr—][\
a n%h“mm’ 62 s [0 s HEN// KR o 0 000 62 s V03 0 A e | 3 7 //////A/ 00 5 -3
7 3 //' /o 9 {17 613 /, r 7/ /ﬂ 74 7 // 4 // 121 8 \.} it
8 12 12|18 41316 s W EE 72 |93 A 2 7777 N, nliz| s ORIt =3
o | ™ MALE e )2 0 Teln|u]s|» 705 - A - ///, 7 W I S| | oy [
2 Jiuretico T N 92 12 A 7////A /A Z s 121212 9] 7|12]3 “ ITW RED HEAD 92 7 % 7 V//%/Ar//f, 2y 12 112 ] 12 218 f12] 4 O(n 3= =
Z RANALS b S %% 7, 4 gin2]e]e 12126 6| & AN SLEEVE 7 7///// 3 v Y ///A‘ 7 12121 7 8 s ~
£ ) 9 12 | 12 6 |12] 3 DYNABOLT SLEEV o |37 N, Ao T2 P PP
e R ACHINE srew | 230 1212|127 3)5]ef 12) 48 7/ ANCIR EMBED. 23 A % N 12|51 7 6 | & !
WINGNUT OR MACHIN e 12 (12 Z 17 sl 12121 s T e /A MIN. 7/%// 7 7 7 /////A A, 2% 11212 s n /// I
7 3 6 7 48 / I / A 44454 7 12 3|8 D
10 8 7 7/ L 1315 Z 8 |12 » 1 y// W 7 A / iVl 7, S |4 6 - : -
2_{2)9 "l 7 7 0 U 12 )12 12757 W 70 s V4 5
8|7 4 G, // / 4 2{12[12]12 108 w ROD 77 V//%//ﬂ 975 7/, V/////' 7 ol
L ED HEAD 2 1215 7 1 721700097, 121121 125 LLSCRE_____! v // 77 YIS ,//5 /a L
VLY”TAg“;IL$SLEEg"E : 72 V45 77 1/12 s1881% 2f1z|8 12| HERER] EPCON EPOXY| 92 / 7//7//%%//% 7% g
?“NcHreR”%éR/ 220 |7 7 2)12j12 10 M1 Llsjeynz|ze 12171129 |2 5 ANCHOR W/ >N, EMBED | 230 222 COMPLYING WITH ThE c HE
MIN. & 12 12 12 7 A /7 2" MIN. : B
48 |12 7{8]|8 1212 |12 71123 SCREW W. APPROVED AS ol lax
1211212 3|5]5 125 LAY, s CODE = 1=l
am 62 |12 |12 2z s 71 1: A (v 20| 152 T L ANCHOR SCHEI?OUUi-EgsmN tosos avoseans | SOUTH FLORIDA BUIUJ?%_ 2000 ol
72 12112 12| 4{5]8611 s 7/ E3IERD } REQUIRED FOR VAR £ -t £ 2 5
ROP-iN & [~ 121819110 7/7/ 3 7/)/4// ASTENER SPACING {INCHES 3/4* EDGE DISTANCE — DAT b "5
e e RAWL DROP- 7/ KN F 5~ RSP AN BY ‘ 213
R AN 230 | 1 8'-5 MAX. S NTROL DIVIS!ON g
BOLT (3/4"2 MEAD) W/ : 5°-0" MAX. SPAN PRODUCT CONTROL DIV} CE i3
1-174" MIN. EM . w LOAD MAX. SPAN CONNECTION COMPLIANCE OFF ]
gg e {(w) CTioN CONNEICZ‘EION TYPE BUILDING CODE ol Oﬁ o[-
z2 P ONNE v 00-02010
e ;’g ANCHOR TY PsF CONNECT T clilalsle ACCEPTANCE NO.
RDAN (4 : 2|3
NSTALLED IN ACC"oNs W/ MIN. X i : 3|4l 719
. 7 ANCHORS SHALL BE INS RECOMMENDAT! “o 112 eluliels ofulle 7]
ANCHOR NOTES: E FOR ANCHOR SPACING * EMBEOMENT NDICATED A BE USED IN LIEV OF 48 |12 )12 |1 6171191 6 ‘
mﬂssf? %ﬁSTF%EERREsge‘szF(rJ:asl.iEﬁlFsHEET 5. f:. 20 TRUSS HEAD EET";TS maY 1.3/L MIN, 62 |12{12]12]12{12 s{e|8]12]3|s : FROBUCT RENEWED
1s A HOW ] 8. /&= BOLTS. 12 77
NLY. ALLOW TO THOSE § TURE -20 SIDEWALK 1|12 9 / / 3
Y 52 Lm:zisen 7PE AND EDGE DISTANCE, - ZDESIGNATES-AN?::%'E:?;‘BDI[??JNSSES' 8:mmm 2 |z 8|w0{12{3]5 /6 7 %%% NeOl -0 ] é ) 4
N ek O e Span ki Y 8E ConcrETE HoLLOw BLOCK. b oo ks s [ T A AOCEFTANCER 02 /24 /1006
IGN LDAD UILDING A . UCTURE MA TING STRU ERENCE 71-3/6" 9 LEL 8 7 7 ]12 f
3. E:ggilEV?ZEgES:‘GSRLSQSAC:.NTBO SHUTTE::':;‘:NEUION TI?I%N 10. E:Ii'fc']’;g 'E;/le'??s' F\ggE:;EEsf:TA?:gRO:t;é :iFsED ON TYPE w (SHE::S gg:&% 230 21z 2 12 1z] 9 sTe el a3 TION DATE 1 = /01/18@
GREATER THA e R DT A TN o L AS CONCRETE, FOR PROPER AN 48 121121 7 3131 / ——
NCE SPACING F FOR IDENTIFICA CHOR SCHEDULE g 1-3/6" MIN 12112110 s |8l ! = ]-dr e
b :E:ECF:’ENNECT'ON DETAILS Es 3:5x15T|NG STRUCTUI 1 52 M1}8(122{12}5 9 VAV//A “ N’I’ROLDMS}OFF}CEN % hecked by
TYPE GE DISTANCE EXCLUD T G ety v ALE a 2 | ol B Tl I T PRODUCgDECOMPuANCEO wF L
: ENT AND ED FOR DIRECT M NOT TO EX g8l 6 V7727 7 7 ING C ; JwWK
5. M'N'MU:NE,::EQDRHSTUCCO- FACE OF ~gsggmg%m‘x,‘cﬁ%‘é‘:gﬁﬁnULE 8 Lt woogglﬁlégr§§$%‘z 92 12 V 7/ 1, S VA/A// 1{ 6 6 9 BUILLD * drawing no. I
unene e scnsencr oo e © B 2 wlals[olululele]s 00-014
AG SCR HALL BE . TO GRAIN 12 |12 12§ &
& ;’:fgirtAM'Nﬁgl:ﬁszE—Nfifcle Wg‘“’osszuonn BETTER L8 | 12 {nj1z{12|l6]6 : 123|466 [ sheet6of6 |
OF NO PINE” G a 0. @mmb 12 s
Sf;O.rE,EF;HALL BE "SQUTHERN n 62 12111012112 5 " p 9 % 3 /L
DENSITY. nmﬂ:mm» ] 72 12181710112 73 V/V/VA%%/// i
(@ ELCO MALE/FEMALE [~ - v | s g
-!;::EELLNBAELE: 5% 230 8 % 3
SR

-R3X
Nt faa /an 1R



